B A Ox (GAEA) ERi27E2 81 BETE

B 4 2 & &t B 4 2 & &t
AEZEHT 0 0 0 | = RiHT 0 4 4
KIZRHET 128 147 275 |HRET 7 7 14
3 SHET 3 0 3 |/EHT 2 4 6
=AHT 139 191 330 | AL ILHET 6 1 17
=&idtE 59 88 147 |1 EHT 1 0 1
SE AT 4 2 6 |[#ARHET 5 4 9
= [ ET 32 54 86 |&HT 2 4 6
FFFHET 0 2 2 |SRHT 10 20 30
KA HT 9 25 34 |ta[RHET 0 0 0
SEEHT 7 10 17 |1 &HT 198 206 404
i AHT 0 0 0 |7iBHT 0 1 1
4./ $ERET 12 16 28 |G HT 26 52 78
FE+EHET 6 2 8 | SHT 81 80 161
HrHHZET 0 1 1 |;EHT 0 0 0
S ERHET 1 9 10 |—&HT 1 2 3
YiE A BT 1 3 4 |&HT 24 26 50
Hr HHET 3 1 4 |2 IRET 100 184 284
AN 0 20 20 |74 ;iHT 7 35 42
R AAHET 17 28 45
AHT 3 5 8
| ARHT 0 0 0
FR LA HT 4 9 13
JUHET 7 6 13
E AT 3 7 10
fHsEHT 18 14 32| & 3 926 1,280 2,206




